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Arbeitsblatt

Kostenlos auf dw-aufgaben.de

Aufgaben-Quickname: 7676

Aufgabe 1
Berechne.

a) 37 + 84 = 121
d) 34 + 20 = 54

¢) 55 + 76 = 131
i) 61 +53 =114

Aufgabe 2

Berechne.

a) 78 + 3 = 81
d) 66+ 8 = 74
g) 35+ 3 = 38
Aufgabe 3

Berechne.

a) 303 + 7 = 310
d) 396 + 9 = 405
g) 615 + 8 = 623
i) 581 + 9 = 590

Aufgabe 4

Berechne.

a) 73+ 70 =143
d) 87+ 84 =171
g) 54 4+ 46 = 100
j) 58 460 = 118

Viel Erfolg!
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b) 45 4 46 = 91

e) 46 + 80 = 126

h) 34 + 85 = 119
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b) 434 + 9 = 443
¢) 368 + 7 = 375
h) 218 + 7 = 225

b) 32 + 51 = 83
e) 62 + 46 = 108
h) 62 + 43 = 105
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¢) 74 + 27 = 101

£) 66 + 34 = 100

) 57+ 94 = 151
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¢) 327 + 9 = 336
£) 409 + 4 = 413
) 614 + 9 = 623

¢) 46 + 59 = 105
£) 58 + 54 = 112
) 88 + 16 = 104
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